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Ex 14A Solutions

Question 1.

Solution:

Steps of construction :

(i) Draw a line segment PQ = 6.2 cm

-ﬂir
[a]

B8.2cm
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(i) With centre P and Q and radius more than half of PQ, draw arcs on each side
intersecting each other at L and M.

(iif) Join LM intersecting PQ at N.

Then, LM is the perpendicular bisector of PQ.
Question 2.

Solution:

Steps of Construction :

1. Draw a line segment AB = 5.6 cm.

2. With A as centre and radius more than half AB, draw arcs, one one each side of AB.

ke

NG
3. With B as centre and same radius as before, draw arcs, cutting the previous arcs at P

and Q respectively.

4. Join P and Q, meeting AB at M. Then PQ is the required perpendicular bisector of
AB.

Verification : Measure ZAMP. We see that ZAMP = 90°. So, PQ is the perpendicular
bisector of AB.
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Question 3.
Solution:

Steps of Contruction :
1. Draw a ray RX.

2. With O as centre and any radius draw an arc cutting OAand OB at P and Q
respectively.

=

al B

k 4

s/ x

3. With R as centre and same radius draw an arc cutting RX at S.

4. With S as centre and radius PQ cut the arc through S at T.

5. Join RT and produce it to Y. Then £ZXRY is the required angle equal to ZAOB.
Verification: Measuring angle AOB and £ZXRY, we observe that ZXRY = ZAOB.

Question 4.
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Solution:
Steps of constructions :

(i) Draw an angle ABC = 50° with the help of a protractor.

A

(ii) With centre B and C and a suitable radius, draw an arc meeting AB at Q and BC at
P.

(iiil) With centres P and Q and with a suitable radius draw two arcs intersecting each
other at R inside the angle ABC.

(iv) JoinRB.

Then ray BR is the bisector of ZABC.
Question 5.

Solution:

Steps of construction :

(i) Draw an angle AOB = 85° with the help of the protractor.
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(i) With centre O, draw an arc with a suitable radius meeting OB at E and OA at F.

(iif) With centre E and F and with a suitable radius draw arcs intersecting each other at
X inside the angle AOB.

Then ray OX is the bisector of ZAOB.
Question 6.

Solution:

Steps of Construction :

(1) Draw the given line AB and take a point P on it.

(2) With P as centre and any suitable radius draw a semi-circle to cut the line AB at X
and .

(3) With centre X and radius more than XP draw an arc.
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(4) With centre Y and same radius draw another arc to cut the previous arc at

(5) Join PQ. Then, PQ is the required line passing through P and perpendicular to AB.
Verification : Measure ZAPQ, we see that ZAPQ = 90°

Question 7.

Solution:

Steps of Construction :

(1) Draw the given line AB and take a point P outside it.

N L B
il I I

(2) With P as centre and suitable radius, draw an arc intersecting AB at C and D.
(3) With C as centre and radius more than half CD, draw an arc.
(4) With D as centre and same radius, draw another arc to cut the previous arc at Q.

(5) Join PQ, meeting AB at L. Then PL is the required line passing through P and
perpendicular to AB.

Verification : Measure ZPLB. We see that ZPLB = 90°.
Question 8.

Solution:

Steps of Construction :

1. Draw a given line AB and take a point P outside it.
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2. Take a point R on AB
3. Join PR.
4. Draw ZRPQ such that ZRPQ = ZPRB as shown in the figure.

5. Produce PQ on both sides to form a line. Then, PQ is the required line passing
through P and parallel to AB.

Verification: Since ZRPQ = ZPRB and these are alternate interior angles, it follows
that PQ || AB.

Question 9.

Solution:

Steps of Construction :

1. Draw a ray BX and cut of BC =5 cm.

2. With B as centre and suitable radius draw an arc above BX and cutting it at P.

R
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3. With P as centre and the same radius as before draw another arc to cut the previous
arc at Q.

4. Join PQ and produce it to the point A such that. AB = 4.5 cm. Then ZABC =60° is
the required angle.

5. Draw ARAB such that ARAB = AABC.

6. Produce RA on both sides to form a line. Then, RY is the line parallel to BC and
passing through A.

7. Now, draw ASCX = AABC at the point C.

8. Produce CS to intersect the line RY at D.Then CD is the required line through C and
parallel to AB.

9. Measure AB and CD. We see that AD =5 cm. and CD =4.5 cm.

Verification. Since ZRAB = ZABC and these are alternate angles, it follows that RY ||
BC.

Also £SCX = ZABC and these are corresponding angles, it follows that CD || AB.
Question 10.

Solution:

Steps of Construction :

1. With the help of a ruler, draw a line segment AB = 6 cm. and off AC = 2.5 cm such
that the point C is on AB.
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2. With C as centre and any suitable radius draw a semi-circle to cut AB at P and
3. With P as centre and any radius more than PC draw an arc.

4. With Q as centre and same radius draw another arc to cut the previous arc at D.
5. Join CD. Then CD is the required line perpendicular to AB.

Verification : Measure ZACD. We see that ZACD = 90°.

Question 11.

Solution:

Steps of Construction :

1. With the help of ruler, draw a line segment AB = 5.6 cm.

KP

2. With A as centre and radius more than half AB, draw arcs, one on each side of AB.

3. With B as centre and the same radius as before draw arcs, cutting the previous arcs
at P and Q respectively.
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4. Join PQ, meeting AB at M. Then, PQ is the required right bisector of AB.

Verification : On measuring AM and BM and ZAMP, we see that AM = BM and ZAMP
=90°.

So, PQ is the right bisector of AB.
Question 12.

Solution:

Steps of Construction :

1. With the help of a ruler, draw a ray OA.

2. With O as centre and suitable radius draw an arc to cut OA at P.

3. With P as centre and the same radius, draw another are to cut the previous arc at Q.
4. Join OQ and produce it to any point B, then ZAOB = 60° is the required angle.

5. With P as centre and radius more than half PQ, draw an arc.

6. With Q as centre and the same radius, draw another arc to cut the previous arc at R.
7. Join OR and produce it to the point C. Then OC is the required bisector of ZAOB.

Verification : Measure ZAOC and ZBOC. We see that ZAOC = ZBOC. So, OC is the
bisector of ZAOB.

Question 13.
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Solution:
Steps of construction :
1. Draw a ray OA with the help of a ruler.

2. With O as centre and suitable radius draw an arc above OA to cut it at P.

3. With P as centre and same radius, cut the arc at Q and again with Q as centre and
same radius cut the arc at R. With R as centre and same radius, again cut the arc at S.

4. Join OR and produce it to B and join OS and produce it to C.

5. Draw the bisector OD of ZBOC.

6. Draw the bisector OE of ZBOD. Then, ZAOE = 135° is the required angle.
Ex 14B Solutions

Question 1.

Solution:

(1) 60°

Steps of construction :

(i) Draw a ray OA.
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(i) With centre O and with a suitable radius drawn an arc meeting OA at E.

(iif) With centre E and with same radius, draw another arc cutting the first arc at F.
(iv) Join OF and produce it to B Then ZAOB = 60°

(2) 120°

Steps of construction :

(i) Draw a ray OA

(i) With centre O and with a suitable radius draw an arc meeting OA at E

(iii) With centre E and with the same radius cut off the first arc firstly at F and then at G
i.e. EF = FG.

(iv) Join OG and produce it to B.

Then, ZAOB = 120°
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(3) 90°
Steps of construction :

(i) Draw a ray OA

F

18

G’F":‘T‘F\

(i) With centre O and a suitable radius draw an arc meeting OA at E.

(iii) With centre E and A with same radius cut off the arc first at F and then from F with
same radius cut off arc at G.

(iv) With centres F and G with a suitable radius, draw two arcs intersecting each other at
H.

(v) Join OH and produce it to B.

Then, ZAOB = 90°.
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Question 2.
Solution:
Steps of Construction :

(i) Draw a ray OA.

Bl
-

o B A

(i) With O as centre and any suitable radius draw an arc above OA, cutting it at a point
B.

(iii) With B as centre and same radius as before draw another arc to cut the previous arc
at C.

(iv) Join OC and produce it to D. Then ZAOD = 60° is the required angle. To bisect the
angle ZAQOD, with B as centre and radius more than half BC draw an arc. With C as
centre and the same radius draw another are cutting the previous arc at E. Join OE and
produce it. Then, OE is the required bisector of ZAQOD.

Question 3.

Solution:

Steps of constructions :

(i) Draw a ray OA.

(i) With centre O and a suitable radius draw an arc meeting OA at E.

(iii) With centre E and with same radius, cut the first arc firstly at F and then from F with
same radius cut act at G.
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(iv) With centres F and G, with suitable radius, draw arcs intersecting each other at H.

==

c

L J

Opeeeescheee——fe e ————

(v) Join OH intersecting the first arc at L and produce it to C.

(vi) With centre E and L and with suitable radius draw arcs intersecting each other at M.
(vii) Join OM and produce it to B.

Then ZAOB = 45°

Question 4.

Solution:

(i) Steps of Construction :

1. Draw a ray OA.

2. With O as centre and any suitable radius draw an arc cutting OA at G.

3. With G as centre and same radius cut the arc at B and then B as centre and same
radius cut the arc at C. Again, with C as centre and same radius cut the arc at D.
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4. With C as centre and radius more than half CD draw an arc.

5. With D as centre and same radius draw another arc to cut the previous arc at E.
6. Join OE and produce it to F.

Then ZAOF = 150°

(ii) Steps of Construction :

1. Draw a ray OA.

2. With O as centre and any suitable radius draw an arc above OA, cutting it at B.

3. With B as centre and same radius as before draw another arc to cut the previous arc
at C. Join OC and produce it to D.

4. Draw the bisector OE of ZAQD. Then ZAOE = 30°.
5. Draw the bisector OF of ZAOE. Then ZAOF = 15° is the required angle.
(iii) Steps of Construction :

1. Draw a ray OA.
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2. With O as centre and any suitable radius draw an arc above OA, cutting it at B.

3. With B as centre and same radius as before draw another arc to cut the previous arc
at C. With C as centre and same radius draw the arc to cut it at D. Again with D as
centre and same radius cut the arc at E.

4. Join OD and produce it to G. Then LAOG = 120°.
5. With D as centre and radius more than half DE draw an arc.

6. With E as centre and same radius draw another arc to cut the previous arc at F. Join
OF.

7. Draw the bisector OH of ZGOF. Then ZAOH = 135° is the required angle.
(iv) Steps of Construction :

1. Draw a ray OA.
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3. With B as centre and same radius cut the previous arc at C and then with C as centre
and same radius cut the arc at D.

4. With C as centre and radius more than half CD draw an arc.

5. With D as centre and same radius draw another arc to cut the previous arc at E.
6. Join OE. Then ZAOE = 90°.

7. Draw the bisector OF of ZAOQOE.

8. Draw the bisector OG of ZAOF.

Then ZAOG = 2212 ° is the required angle.

(v) Steps of Construction :

1. Draw a ray OA.

F' Y
F G'\E
A
D K
o] B A

2. With O as centre and any suitable radius draw an arc cutting OA at B.

3. With B as centre and same radius cut the previous arc at C and then with C as centre
and same radius cut the arc at D.

4. With C as centre and radius more than half CD draw an arc
5. With D as centre and same radius draw another arc to cut the previous arc at E.
6. Join OE. Also join OD and produce it to F.

7. Draw the bisector OG of ZEOF Thus, ZAOG = 105° is the required angle.
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(vi) Steps of Construction :

1. Draw a ray OA.

2. With O as centre and any suitable radius draw an arc cutting OA at B.

3. With B as centre and same radius* cut the previous arc at C and then with C as
centre cut the arc at D.

4. With C as centre and radius more than half CD draw an arc.

5. With D as centre and same radius draw another arc to cut the previous arc at E.
6. Join OE. Also join OC and produce it to G.

7. Draw the bisector OF of ZEOG. Then, ZAOF = 75° is the required angle.

(vii) Steps of Construction :

1. Draw a ray OA.

tions-using-ruler-and-a-pairs-of-compasses/

e‘ll IVN\dil TCI


https://www.indcareer.com/schools/ncert-solutions-for-4th-class-maths-chapter-14-smart-charts/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/

@‘II IV\dl ©CIH

2. With O as centre and any suitable radius draw an arc above OA to cut it B.

With B as centre and same radius cut the previous arc at C and then with C as centre
and same radius cut the arc at D.

4. With C as centre and radius more than half CD draw an arc.

5. With D as centre and same radius draw another arc to cut the previous arc at E.
6. Join OE. Then ZAOE = 90°.

7. Draw the bisector OF of ZAOQOE.

8. Draw the bisector OG of ZEOF.

Then ZAOG = 6712 ° is the required angle.

(viii) Steps of Construction :

1. Draw a ray OA.

rs
Sy
EX
F
o4 ;
+ -
o B A
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3. With B as centre and same radius cut the previous arc at C and then with C as centre
and same radius cut the arc at D.

4. With C as centre and radius more than half CD, draw an arc.

5. With D as centre and same radius draw another arc to cut the previous arc at E.
6. Join OE. Then ZAOE = 90°.

7. Draw the bisector OF of angle ZAOE. Then, ZAOF = 45° is the required angle.
Question 5.

Solution:

Steps of Construction :

1. Draw a line-segment AB = 5 cm with the help of a rular.

H
G
(F
S
i
A g B

2. With Aas centre and suitable radius draw an arc cutting AB at C.

3. With C as centre and same radius cut the previous arc at D and then with D as centre
and same radius cut the arc at E

4. With D as centre and radius more than half DE draw an arc.
5. With E as centre and same radius draw another arc to cut the previous arc at F.

6. Join AF and produce it to G such that AG = 3.5 cm. Then £ZBAG = 90°.
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7. With G as centre and radius equal to AB draw an arc. With B as centre and radius
equal to AG draw another arc to cut the previous arc at H.

8. Join GH and BH. Then, AB HG is the required rectangle.
Question 6.

Solution:

Steps of Construction :

1. With the help of a ruler draw a line segment AB = 5 cm.

o Sy
/
XKF
=
ch
A d B

2. With A as centre and any suitable radius draw an arc cutting AB at C.

3. With C as centre and same radius cut the previous arc at D and then with D as centre
and same radius cut the arc at E.

4. With D as centre and radius more than half DE draw an arc.
5. With E as centre and same radius draw another arc to cut the previous arc at F.
6. Join AF and produce it to G such that AG = 5 cm.

7. With G as centre and radius equal to AB draw an arc. With B as centre and same
radius draw another arc to cut the previous arc at H.

8. Join GH and BH. Then, AB HG is the required square.
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RS Aggarwal Class 6 Solutions

t

Chapter 1i—Number System

Chapter 2—Factors and

Multiples

Chapter 3—Whole Numbers
Chapter 4—Integers

Chapter 5—Fractions

Chapter 6—Simplification
Chapter 7—Decimals

Chapter 8—Algebraic

Expressions
Chapter 9—Linear Equations

in One Variable

Chapter 10—Ratio,
Proportion and Unitary
Method

Chapter 11—Line Segment,
Ray and Line

Chapter 12—Parallel Lines

Chapter 13—Angles and

Their Measurement
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Chapter 14—Constructions

(Using Ruler and a Pairs of

Compasses)

Chapter 15—Polygons

Chapter 16—Triangles

Chapter 17—Quadrilaterals
Chapter 18—Circles
Chapter

19—Three-Dimensional

Shapes
Chapter

20—Two-Dimensional

Reflection Symmetry (Linear

Symmetry)
Chapter 21—Concept of

Perimeter and Area

Chapter 22—Data Handling

Chapter 23—Pictograph

Chapter 24—Bar Graph



https://www.indcareer.com/schools/ncert-solutions-for-4th-class-maths-chapter-14-smart-charts/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-1-number-system/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-2-factors-and-multiples/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-2-factors-and-multiples/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-3-whole-numbers/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-4-integers/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-5-fractions/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-6-simplification/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-7-decimals/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-8-algebraic-expressions/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-8-algebraic-expressions/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-9-linear-equations-in-one-variable/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-9-linear-equations-in-one-variable/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-10-ratio-proportion-and-unitary-method/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-10-ratio-proportion-and-unitary-method/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-10-ratio-proportion-and-unitary-method/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-11-line-segment-ray-and-line/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-11-line-segment-ray-and-line/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-12-parallel-lines/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-13-angles-and-their-measurement/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-13-angles-and-their-measurement/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-15-polygons/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-16-triangles/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-17-quadrilaterals/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-18-circles/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-19-three-dimensional-shapes/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-19-three-dimensional-shapes/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-19-three-dimensional-shapes/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-20-two-dimensional-reflection-symmetry-linear-symmetry/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-20-two-dimensional-reflection-symmetry-linear-symmetry/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-20-two-dimensional-reflection-symmetry-linear-symmetry/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-20-two-dimensional-reflection-symmetry-linear-symmetry/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-21-concept-of-perimeter-and-area/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-21-concept-of-perimeter-and-area/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-22-data-handling/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-23-pictograph/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-24-bar-graph/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/
https://www.indcareer.com/schools/rs-aggarwal-solutions-for-class-6-maths-chapter-14-constructions-using-ruler-and-a-pairs-of-compasses/

@II 1 WGl GG

About RS Aggarwal Class 6 Book

Investing in an R.S. Aggarwal book will never be of waste since you
can use the book to prepare for various competitive exams as well. RS
Aggarwal is one of the most prominent books with an endless number
of problems. R.S. Aggarwal's book very neatly explains every
derivation, formula, and question in a very consolidated manner. It
has tonnes of examples, practice questions, and solutions even for the
NCERT questions.

He was born on January 2, 1946 in a village of Delhi. He graduated
from Kirori Mal College, University of Delhi. After completing his
M.Sc. in Mathematics in 1969, he joined N.A.S. College, Meerut, as a
lecturer. In 1976, he was awarded a fellowship for 3 years and joined
the University of Delhi for his Ph.D. Thereafter, he was promoted as a
reader in N.A.S. College, Meerut. In 1999, he joined M.M.H. College,
Ghaziabad, as a reader and took voluntary retirement in 2003. He has
authored more than 75 titles ranging from Nursery to M. Sc. He has
also written books for competitive examinations right from the clerical
grade to the I.A.S. level.
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Frequently Asked Questions (FAQSs)

Why must I refer to the RS Aggarwal textbook?

RS Aggarwal is one of the most important reference books for high school grades
and is recommended to every high school student. The book covers every single
topic in detail. It goes in-depth and covers every single aspect of all the
mathematics topics and covers both theory and problem-solving. The book is true
of great help for every high school student. Solving a majority of the questions
from the book can help a lot in understanding topics in detail and in a manner
that is very simple to understand. Hence, as a high school student, you must
definitely dwell your hands on RS Aggarwal!

Why should you refer to RS Aggarwal textbook solutions on
Indcareer?

RS Aggarwal is a book that contains a few of the hardest questions of high school
mathematics. Solving them and teaching students how to solve questions of such
high difficulty is not the job of any neophyte. For solving such difficult questions
and more importantly, teaching the problem-solving methodology to students, an
expert teacher is mandatory!

Does IndCareer cover RS Aggarwal Textbook solutions for Class 6-12?

RS Aggarwal is available for grades 6 to 12 and hence our expert teachers have
formulated detailed solutions for all the questions of each edition of the textbook.
On our website, you'll be able to find solutions to the RS Aggarwal textbook right
from Class 6 to Class 12. You can head to the website and download these
solutions for free. All the solutions are available in PDF format and are free to
download!
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About IndCareer

IndCareer.com is a leading developer of online career guidance resources for the Indian
marketplace. Established in 2007, IndCareer.com is currently used by over thousands of
institutions across India, including schools, employment agencies, libraries, colleges
and universities.

IndCareer.com is designed to assist you in making the right career decision - a decision
that meets your unique interests and personality.

For any clarifications or questions you can write to info@indcareer.com
Postal Address

IndCareer.com

52, Shilpa Nagar,
Somalwada
Nagpur - 440015
Maharashtra, India

WhatsApp: +91 9561 204 888

Website: https://www.indcareer.com
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